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Fuel and Interest
Salary Transport Bonus on Loans Taxes

288 98 3 23.4 83

342 112 2.52 32.5

324 101 3.84 41.6 74
336 133 3.68 36.4 88
420 142 3.96 49.4 98

What was the average amount of interest on loans per year
5 which the company had to pay during this period?

(A) Rs. 32.43 lakhs

(B) Rs. 33.72 lakhs

(C) Rs. 34.18 lakhs




Fuel and Interest
Year Salary Transpcrt Bonus on Loans Taxes

288 98 3 23.4 83
342 112 2.52 32.5

324 101 3.84 41.6 74
336 133 3.6% 36.4 88
420 142 3.96 49.4 98

The totallamouRtiefilbeRusipaid by the company during the
given period is approximately what percent of th EiotaliamounRty

gofisalanypaid during this period?
(A) 0.1%
el Ry
1% +14.80 411,
(D) 1.25% (A \_/

+\



Fuel and Interest
Year Salary Transport Bonus on Loans Taxes

288 98 3 23.4 83
342 112 2.52 32.5

324 101 3.84 41.6 74
336 133 3.68 36.4 88
420 142 3.96 49.4 98

Total expenditure on all these items in 1998 was approximately
what percent of the total expenditure in 20027?

(A) 62%

(B) 66%

\ey9%

(D) 71%




N\
Fuel and Interest

Salary Transport Bonus on Loans Taxes
288 98 3 23.4 83
342 112 2.52 32.5

324 101 3.84 41.6 74
336 133 3.68 36.4 88
420 142 3.96 49.4 98

What is the ratio between the total expenditure on Taxes for all
the years and the total expenditure on Fuel and Transport for
all the years respectively (approximately)?

5 A) 47
g% = /01 \/(HS‘)(?(’):B
>

(C) 15:18
(D) 5:8




Fuel and Interest
Salarv Transport Bonus on Loans Taxes

288 98 3 23.4 83

342 112 2.52 32.5

324 101 3.84 41.6 74
336 133 3.68 36.4 88
420 142 3.96 49.4 98

What was the percentage increase in Salary from 1998 to

2002?
9 (A) 35.2%
_Q—-'X |©0 \ (BM5.8%
2% b (C) 50.1%
(D) 40.5% L{U"‘} g{)
- =
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Bar oplh

120

100

-

80

A\~

60

40

20

H.

B1 B2 B3 B4 B5 B6
F—

m 2000 = 2001

What is the ratio of the total sales of branch B2 for both
years to the total sales of branch B4 for both years?

(A) 2:3
e, (B) 3:5
SR (C) 4:5
.:.Q * 5 . \/(,D(79
...... -‘é—’
C...
.‘. °
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20

B1 B2 B4 BS

m 2000 = 2001

Total sales of branch B6 for both the years is what percent of
the total sales of branch B3 for both the years?
(A) 68.54%
(B) 71.11%
73.17%
(D) 75.55%
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0,0
B1 B2

W—

B3 B4 B5 B6

N 2000 m 2001
S———

What is the average sales of branches.B_l, B3 and B6 (in
thousand numbers) for the year 20007
———

(A) 75
o 81.67
Ein (C) 85
recls..
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60

40

20

o

m 2000 = 2001

What are the total sales of branches B1, B3 and B5 together
for both the years (in thousand numbers)?

(A) 250
(8) 310
O ‘)(;){435
'0::. °
baeltss .



120

100

$¢ %, 80

60

40

20

B1 B2 B3 @ BS B6
N = 2000 =200

Which branch showed the highest percentage increase in

sales from 2000 to 20017
\XK B1 N A

= (B) B3
.°°-. . (C) BS
ceelT (D) B6
0.‘..:..



(1
e chrarls
If for a certain quantity of books, the publisher has to Expenditures
pay Rs. 30,600 as printing cost, then what will be the
e
amount of royalty to be paid for these books? 15%

(A) Rs. 19,450
(B) Rs. 21,200

\Pﬁs. 22,950 10%
D) Rs. 26,150

10%

30,600

4

P
=

2.0 %0602

= — B
2 15%
15 %" &X % Ngyy

O Paper Cost @ Printing Cost @ Binding
6 g 0 3 @ Royalty @ Advertising @ Transportation

W XJ5 O Miscellaneous
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What is the central angle of the sector corresponding to
the expenditure incurred on Paper Cost?

) 900
(C) 540
(D) 480

\

90
25 =
22y 3T
/\j;”

-4

q0

—_—

Expenditures

15%
25%

10%

¢
et

10%

20%

15%

5%

O Paper Cost @ Printing Cost @ Binding

@ Royalty @ Advertising @ Transportation

O Miscellaneous



Royalty on the book is less than the Printing cost by Expenditures
what percentage?

(A) 5% 15%
(B) 3331%

(C) 20%
25% 10%

10%

5 yieo=25/ oy, N

O Paper Cost @ Printing Cost @ Binding

i
20% oe?t‘?

@ Royalty @ Advertising @ Transportation
PE———

O Miscellaneous



If the total expenditure incurred by the publisher is Rs. Expenditures = |, S—o/@oo
1,50,000, what is the combined expenditure on Binding

‘and Transportation?
(A) Rs. 15,000

ABTRs. 22,500
(C) Rs. 25,000 TYars NS

(D) Rs. 30,000

15%

20%

15y 1500%P oSG Bindiws

[ O Paper Cost @ Printing Cost @ Binding
e ———
go O @ Royalty @ Advertising @ Transportation
® » o N
® o ° . .
. Ed
0e %"
@
pbel ..
Qoo -
'. A = @ =)



What is the ratio of the expenditure on Paper Cost to Expenditures
the expenditure on Advertising?

(A) 5:2 15%

(B) 2:5 @
(C) 5:3

(D) 3:5 10%

\ O 20%

15%

5%

O Paper Co @ Printing Cost @ Binding

@ Royalty @ Advertising @ Transportation
e
O Miscellaneous



The table below shows the percentage allocation of a family's
monthly budget across different categories. The total monthly
budget is ? 40,000. Answer the questions based on the data.

R P
E (e
e e

EE R R
R U

How much amount is allocated for Rent per month?
(A) X 6,000

8) X 8,000

(C) X 10,000

(D) X 12,000



The table below shows the percentage allocation of a family's
monthly budget across different categories. The total monthly
budget is X 40,000. Answer the questions based on the data.

R ¢ B
R S
E R

_
-

Savings

What is the total amount allocated for Food and Education
combined per month?
(A) X 15,000
(B) X 16,000
—-% 18,000
(D) X 20,000




The table below shows the percentage allocation of a family's
monthly budget across different categories. The total monthly
budget is X 40,000. Answer the questions based on the data.

R (5 L

P~
EC o> M

How much more amount is spent on Food compared to
Transport per month?
(A) X 4,000
(B) X 5,000
X 6,000
(D) X 7,000



The table below shows the percentage allocation of a family's
monthly budget across different categories. The total monthly
budget is X 40,000. Answer the questions based on the data.

Category Percentage Allocation
o

0V o\

Transport

What is the ratio of the amount allocated for Savings to the
amount allocated for Utilities?

i
(B) 1:2
(C) 2:1
(D) 3:2



The table below shows the percentage allocation of a family's

monthly budget across different categories. The total monthly

budget is X 40,000. Answer the questions based on the data.
—————

Rent

Education

Savings

Total

If the total monthly budget increases by 10%, and the
percentage allocations remain the same, what will be the
new amount allocated for Transport?
(A) X 6,000

\/(B«)'f 6,600
(C) X 7,000
(D) X 7,500




Total = 400

Team————=——am
6% 2%

12%
56%

OTea @Coffee @ Milk @ Cold Coffee Blced Tea B Cold Drinks
— 9

How many people like Tea?
(A) 200
(B) 212
—4£7224
(D) 230



Total = 400

Gl o
—>

12%

12%
56%

[ —

OTea @Coffee @ Milk @ Cold Coffee Blced Tea B Cold Drinks
— “Eae——

How many more people like Coffee than
Cold Coffee?

(A) 40
. s, ——{8) 48
o...‘.‘-_ (C) 52
:oo..:.‘ A (D) 60
l::."‘-..



% 360 =

Total = 400

12%

56%

O
l OTea @Coffee @Milk @ Cold Coffee BIced Tea @ Cold Drinks
What is the total central angle for the sectors
representing Iced Tea and Cold Drinks combined?
| .' I (A) 25.20 -
oo, __{B) 28.8
9 Shalie (C) 32.40
® 9 °
:0....‘°' , (D) 36.00
' . . . @® ) S '
o a . @



Total = 400

6% 2%

56%

OTea @Coffee @ Milk @ Cold Coffee Blced Tea B Cold Drinks

What percentage of the total people
surveyed like either Milk or Coffee?

(A) 30% - =
,..’.' - . \)%36%

Seo,. (C) 40%

..' ..o



Total = 400
Co\A LKL o 2

12%
56%

OTea @Coffee @ Milk @ Cold Coffee Blced Tea B Cold Drinks

What is the ratio of the number of people who like
Tea to the number of people who like Cold Coffee?



Study the following table which gives the percentage of
marks obtained by seven students in six different subjects
in an examination. Answer the questions based on it. The

numbers in the brackets give the maximum marks in each
subject.

¥,

ég+ 1 “W flh:On;istry :’1hzyg)|cs (S::)ir::ct::er

(20 [cotbot pot 504130 -- .
> g Ayush 90%

6stFS+? 30

00x T e

Sajal

—_— \\J ? Eﬁ/,op'l)( \%0 Rohit
\

Muskan

;
Ex i (9] 130

7 L — |00 =
7/ = What are the average marks obtained by all the seven
IW X students in Chemistry (rounded off to two decimal places)?
(A) 75.50
—B780.14
(C) 82.71

(D) 85.00



Study the following table which gives the percentage of

marks obtained by seven students in six different subjects
in an examination. Answer the questions based on it. The
numbers in the brackets give the maximum marks in each

subject.
W Chemistry Geography History (60) Computer
(130) (120) (100) Science
(40)

How many students obtained 80% or more marks in
Mathematics?

(A) 2

(B) 3

(C) 4

TS




Study the following table which gives the percentage of
marks obtained by seven students in six different subjects
in an examination. Answer the questions based on it. The
b (.1 g numbers in the brackets give the maximum marks in each
' subject.

Chemistry Physics Geography History (60) Computer
(130) (120) (100) Science
(40)

%¢ Ayush
\W Aman 100%
------
. bp yuf £ 69 b
T 20 qppt L xp T IL X
\$7 e e e e | |ow |
Y e Jaw [soe [ Jaos e

[w+Qé+%of3£fM‘?%hs Countthe-number-ofsuch-students—There-ares-students:

i 2%. What were the aggregate marks obtained by Rohit in all
. the six subjects?
T L( Lf O,E’ (A) 401.5
(B) 415.0 o L['-{D~S
(C) 425.5 e

(D) 430.0



Study the following table which gives the percentage of

marks obtained by seven students in six different subjects
in an examination. Answer the questions based on it. The
numbers in the brackets give the maximum marks in each

subject.
Chemistry Physics Geography History (60) Computer
(130) (120) (100) Science
(40)
0
0

In which subject is the overall average percentage mark the
lowest?

hemistry

(B) History

(C) Physics

(D) Geography

i



Study the following table which gives the percentage of
marks obtained by seven students in six different subjects
in an examination. Answer the questions based on it. The
numbers in the brackets give the maximum marks in each
subject.

Chemistry Physics Geography History (60) Computer
(130) (120) (100) Science
(40)

Rohit
Muskan

Tanvi

What is the overall percentage obtained by Muskan?

(A) 75.0%

(B) 78.2%

(C) 76.8% Q~ 77 S

(D) 79.5% —
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